# Application of Decomposition Method for Natural Transform 

Duangkamol Poltem ${ }^{*}$, Piyada Totassa and Araya Wiwatwanich<br>${ }^{1}$ Department of Mathematics, Faculty of Science, Burapha University, Chonburi, Thailand<br>*Corresponding author's email: duangkamolp [AT] buu.ac.th


#### Abstract

In this paper, Adomian decomposition method is applied to compute Natural transform. The suggested method is described and illustrated with some examples.


Keywords- Natural Transform, Adomian Decomposition Method

## 1. INTRODUCTION

Adomain decomposition method (ADM) [1, 2] is a powerful decomposition methodology for the practical solution of linear or nonlinear ordinary differential equations, partial differential equations, integral equations, etc. This method has been receiving much attention in recent years in the area of series solutions. The ADM provides an approximate analytic solution of differential equations; we shall deal here only with the first order linear differential equation.

Consider the first order linear differential equations

$$
\begin{equation*}
\frac{d y}{d t}+p(t) y=f(u t) \tag{1}
\end{equation*}
$$

with

$$
y(0)=0 .
$$

The analytical solution of (1) is given by

$$
\begin{equation*}
\int \mu(t) f(u t) d t=y(t) \mu(t) \tag{2}
\end{equation*}
$$

where $\mu(t)=e^{\int p(t) d t}$ is an integrating factor.
By using the operator $L=\frac{d}{d t}$ equation (1) can be written as

$$
\begin{equation*}
L y+p(t) y=f(u t) \tag{3}
\end{equation*}
$$

or

$$
\begin{equation*}
p(t) y=f(u t) \quad L y, \tag{4}
\end{equation*}
$$

with

$$
y(0)=0 .
$$

By applying the standard Adomian decomposition method to equation (4) the solution $y$ will be obtained by the series:

$$
\begin{equation*}
y=\sum_{i=0}^{\infty} y_{i} . \tag{5}
\end{equation*}
$$

The components $y_{0}, y_{1}, y_{2}, \ldots$ are calculated by

$$
\begin{align*}
& y_{0}=\frac{f(u t)}{p(t)}, \\
& y_{1}=-\frac{1}{p(t)} L\left(\frac{f(u t)}{p(t)}\right), \\
& y_{2}=(-1)^{2} \frac{1}{[p(t)]^{2}} L^{2}\left(\frac{f(u t)}{p(t)}\right),  \tag{6}\\
& \vdots \\
& y_{i}=(-1)^{i} \frac{1}{[p(t)]^{i}} L^{i}\left(\frac{f(u t)}{p(t)}\right),
\end{align*}
$$

where $L^{i}=\frac{d^{i}}{d t^{i}}, i=1,2,3, \ldots$ is $i$-fold differential operator. The convergence of the ADM was discussed by Cherruault [3, $4]$.

## 2. NATURAL TRANSFORM

The Natural transform of the function $f(t)$ for $t \in(-\infty, \infty)$ is defined by $[5,6]$

$$
\begin{equation*}
\square[f(t)]=R(s, u)=\int_{-\infty}^{\infty} e^{-s t} f(u t) d t ; \quad s, u \in(-\infty, \infty), \tag{7}
\end{equation*}
$$

where $\square[f(t)]$ is called the Natural transform of time function. Variables $s$ and $u$ are the Natural transform variables. Equation (7) can be written as

$$
\begin{equation*}
\square[f(t)]=\square^{-}[f(t)]+\square^{+}[f(t)] \tag{8}
\end{equation*}
$$

where

$$
\begin{equation*}
\square^{-}[f(t)]=R^{-}(s, u)=\int_{-\infty}^{0} e^{-s t} f(u t) d t ; \quad s, u \in(-\infty, 0), \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
\square^{+}[f(t)]=R^{+}(s, u)=\int_{0}^{\infty} e^{-s t} f(u t) d t ; \quad s, u \in(0, \infty) . \tag{10}
\end{equation*}
$$

If the real function $f(t)>0$ and $f(t)=0$ for $t<0$ is both piecewise continuous and exponential order, then the Natural transform is defined on the set

$$
A=\left\{f(t)\left|\exists M, \tau_{1}, \tau_{2}>0,|f(t)|<M e^{t / \tau_{j}} \text { if } t \in(-1)^{j} \times[0, \infty)\right\}\right.
$$

as

$$
\square^{+}[f(t)]=R^{+}(s, u)=\int_{0}^{\infty} e^{-s t} f(u t) d t ; \quad s, u \in(0, \infty),
$$

where $H(\cdot)$ is the Heaviside function.

## 3. MAIN RESULTS

We now apply Adomian decomposition method to obtain some formulas for Natural transform.
Suppose that $p(t)=-s$ where $s$ is a positive constant. Then equation (2) becomes

$$
\begin{equation*}
\int e^{-s t} f(u t) d t=e^{-s t} y \tag{11}
\end{equation*}
$$

Integrating from zero to infinity of equation (11) makes the left hand side of this equation become the Natural transform of $f(t)$. Decompose $y$ as in equation (5) to obtain

$$
\begin{equation*}
\square^{+}[f(t)]=\int_{0}^{\infty} e^{-s t} f(u t) d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty} . \tag{12}
\end{equation*}
$$

Example 1. Let $f(t)=1$, then by the Natural transform (12) we have

$$
\square^{+}[1]=\int_{0}^{\infty} e^{-s t} d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty} .
$$

According to scheme (6), we have

$$
\begin{aligned}
& y_{0}=\frac{f(u t)}{p(t)}=-\frac{1}{s} \\
& y_{1}=y_{2}=y_{3}=\cdots
\end{aligned}
$$

Therefore,

$$
\square^{+}[1]=\left[e^{-s t}\left(-\frac{1}{s}\right)\right]_{t=0}^{\infty}=\frac{1}{s}
$$

Example 2. Let $f(t)=e^{a t}, s>a u$. From equation (12), we have

$$
\square^{+}\left[e^{a t}\right]=\int_{0}^{\infty} e^{-s t} e^{a u t} d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty}
$$

The components $y_{i}$ can be computed as follows:

$$
\begin{aligned}
& y_{0}=\frac{f(u t)}{p(t)}=-\frac{1}{s} e^{a u t}, \\
& y_{1}=-\frac{1}{p(t)} L\left(\frac{f(u t)}{p(t)}\right)=-\frac{a u}{s^{2}} e^{a u t}, \\
& y_{2}=(-1)^{2} \frac{1}{[p(t)]^{2}} L^{2}\left(\frac{f(u t)}{p(t)}\right)=-\frac{a^{2} u^{2}}{s^{3}} e^{a u t}, \\
& \vdots \\
& y_{n}=(-1)^{n} \frac{1}{[p(t)]^{n}} L^{n}\left(\frac{f(u t)}{p(t)}\right)=-\frac{a^{n} u^{n}}{s^{n+1}} e^{a u t}, \quad n=1,2,3, \ldots
\end{aligned}
$$

Then,

$$
{ }^{+}\left[e^{a t}\right]=\frac{1}{s}+\frac{a u}{s^{2}}+\frac{a^{2} u^{2}}{s^{3}}+\cdots=\frac{1}{s-a u} .
$$

Example 3. Let $f(t)=t$. From equation (12) we have

$$
\square^{+}[t]=\int_{0}^{\infty} e^{-s t} u t d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty}
$$

The have

$$
\begin{aligned}
& y_{0}=\frac{f(u t)}{p(t)}=-\frac{1}{s} u t, \\
& y_{1}=-\frac{1}{p(t)} L\left(\frac{f(u t)}{p(t)}\right)=-\frac{1}{s^{2}} u, \\
& y_{2}=y_{3}=y_{4}=\cdots=0 .
\end{aligned}
$$

Therefore

$$
\square^{+}[t]=\left[e^{-s t}\left(-\frac{u t}{s}-\frac{u}{s^{2}}\right)\right]_{t=0}^{\infty}=\frac{u}{s^{2}}
$$

Example 4. Let $f(t)=t^{n}$. From equation (12) we have

$$
]^{+}\left[t^{n}\right]=\int_{0}^{\infty} e^{-s t}(u t)^{n} d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty} .
$$

By following the scheme in (6), we have

$$
\begin{aligned}
& y_{0}=\frac{f(u t)}{p(t)}=-\frac{1}{s} u^{n} t^{n}, \\
& y_{1}=-\frac{1}{p(t)} L\left(\frac{f(u t)}{p(t)}\right)=-\frac{n}{s^{2}} u^{n} t^{n-1}, \\
& y_{2}=(-1)^{2} \frac{1}{[p(t)]^{2}} L^{2}\left(\frac{f(u t)}{p(t)}\right)=-\frac{n(n-1)}{s^{2}} u^{n} t^{n-2}, \\
& \vdots \\
& y_{n}=(-1)^{n} \frac{1}{[p(t)]^{n}} L^{n}\left(\frac{f(u t)}{p(t)}\right)=-\frac{n!}{s^{n+1}} u^{n}, \\
& y_{n+1}=y_{n+2}=y_{n+3}=\cdots=0 .
\end{aligned}
$$

Then,

$$
\square^{+}[t]=\left[e^{-s t}\left(-\frac{1}{s} u^{n} t^{n}-\frac{n}{s^{2}} u^{n} t^{n-1}-\frac{n(n-1)}{s^{3}} u^{n} t^{n-2}-\cdots-\frac{n!}{s^{n+1}} u^{n}\right)\right]_{t=0}^{\infty}=\frac{n!}{s^{n+1}} u^{n} .
$$

Example 5. Let $f(t)=\sin (a t)$. From equation (12) we have

$$
\square^{+}[\sin (a t)]=\int_{0}^{\infty} e^{-s t} \sin (a u t) d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty} .
$$

where

$$
\begin{aligned}
& y_{0}=\frac{f(u t)}{p(t)}=-\frac{1}{s} \sin (a u t), \\
& y_{1}=-\frac{1}{p(t)} L\left(\frac{f(u t)}{p(t)}\right)=-\frac{a u}{s^{2}} \cos (a u t), \\
& y_{2}=(-1)^{2} \frac{1}{[p(t)]^{2}} L^{2}\left(\frac{f(u t)}{p(t)}\right)=\frac{a^{2} u^{2}}{s^{3}} \sin (a u t), \\
& y_{3}=(-1)^{3} \frac{1}{[p(t)]^{3}} L^{3}\left(\frac{f(u t)}{p(t)}\right)=\frac{a^{3} u^{3}}{s^{4}} \cos (a u t),
\end{aligned}
$$

Then,

$$
\square^{+}[\sin (a t)]=\frac{a u}{s^{2}}-\frac{a^{3} u^{3}}{s^{4}}-\frac{a^{5} u^{5}}{s^{6}}-\cdots=\frac{a u}{s^{2}+(a u)^{2}} .
$$

Example 6. Let $f(t)=\cosh (a t)$. From equation (12) we have

$$
\square^{+}[\cosh (a t)]=\int_{0}^{\infty} e^{-s t} \cosh (a u t) d t=\left[e^{-s t} \sum_{i=0}^{\infty} y_{i}\right]_{t=0}^{\infty}
$$

where

$$
\begin{aligned}
& y_{0}=\frac{f(u t)}{p(t)}=-\frac{1}{s} \cosh (a u t), \\
& y_{1}=-\frac{1}{p(t)} L\left(\frac{f(u t)}{p(t)}\right)=-\frac{a u}{s^{2}} \sinh (a u t), \\
& y_{2}=(-1)^{2} \frac{1}{[p(t)]^{2}} L^{2}\left(\frac{f(u t)}{p(t)}\right)=-\frac{a^{2} u^{2}}{s^{3}} \cosh (a u t), \\
& y_{3}=(-1)^{3} \frac{1}{[p(t)]^{3}} L^{3}\left(\frac{f(u t)}{p(t)}\right)=-\frac{a^{3} u^{3}}{s^{4}} \sinh (a u t),
\end{aligned}
$$

$$
\vdots
$$

Then,

$$
\square^{+}[\cosh (a t)]=\frac{1}{s}+\frac{a^{2} u^{2}}{s^{3}}+\frac{a^{4} u^{4}}{s^{5}}+\cdots=\frac{s}{s^{2}-(a u)^{2}} .
$$

## 4. CONCLUSION

The decomposition method is simple for solving the linear first order differential equation. In this work, this method has been applied to compute Natural transform for some functions. It has been observed that, the suggested method is very efficient for Natural transform, which requires simple differentiation.

## 5. ACKNOWLEDGEMENT

This research was supported by the Faculty of Science, Burapha University. The authors are also grateful to the reviewers for valuable suggestions in improving the quality of the paper.

## 6. REFERENCES

[1] G. Adomian, "A review of the decomposition method and some recent results for nonlinear equation", Computers and Mathematics with Applications, vol 21, no. 5, pp. 101-127, 1991.
[2] G. Adomian, "Solving frontier problems of physics: the decomposition method", Kluwer Academic Publishers, Dordrecht, 1994.
[3] Y. Cherruault, G. Saccomandi, B. Some, "New results for convergence of Adomian's method applied to integral equations", Mathematical and Computer Modelling, vol 16, no. 2, pp. 85-93, 1992.
[4] Y. Cherruault, "Convergence of adomians method", Kybernete, vol 18, no. 2, pp. 31-38, 1998.
[5] F. B. M. Belgacem, R. Silambarasan, "Theoretical investigations of the natural transform", Progress In Electromagnetics Research Symposium Proceeding, Suzhou, China, Sept. pp. 12-16, 2011.
[6] F. B. M. Belgacem, R. Silambarasan, "Maxwell's equations solutions through the natural transform", Mathematics in Engineering Science and Aerospace, vol 3, no. 3, pp. 313-323, 2012.

